$n et SR BRAT e b3 o g

AR IE

gl «m WERE AR5 ERS 2 Y
b U I ST EAC T C NG A e IR s o]
YEE L BEt e Tr%:zm‘%u'j szl o2
D BHIco A EEL, sy s Brt Y HA
N BB F Ao R D,

Bfkefnit £

i rr 1 AT o et H-1 035 % -
BEF o B EM N R MEH S 4B, WA
By U BEREEA T, 20FF NI 0T
EAfkE st AonsrH-20x52%3, 2221
Fuamgo Lot AV LTE LA £

29,
o

2!14\\1

Fu1¥r% FAE K B

HA-32520p<h 3, hnthobEcbI3RY
FlAH) T -V 2RI REBL A
ttor B ¥ 2 kP ELAE L o ot #T
3, wERHEGH TR EToRBUPISEREY
BroBbBoifitht bz 102 £i b3, —F,

YEE v pHERsHT o a1 nd, ik, Lsf
® Model (4)
R ABFER oW E R 2 b5, sk ST
N 6 - z ’1 X Model (3}
".!0;.
ORE 320X 7 et . S - STNN S ¢ :".. X
FEvy AT aKI BKOBBARLS, Lof—x e ¥ 335
8 ooo
@ $+BFehHFR e nBmEHE KR T, 3 Teen,
g # : X ! " 06_0
ko AT ARE D RHBEABITE L o, © Moge1 (2) 2778 T,
® srnEEntni2fbrise. /b2 rE + joder 1
nE-KotEErviin-H7T3, °5r
? L e
Model (1) and {(3) 1 3 5 7 9 i1
ﬁlk‘vgﬁ@ﬁ’} Model {2) and (4) 1 5 9 13 17 21
Hor¥cnXd k2 TBEXD T2 Mode number
3345 SERLMIBE -t PN+ 3% < g -2
---- THEORY
! . A MoHo‘]
w nN
-3 Z e Moflo =2 .
I TS N N NI AN AW ) \
w - y A v ~/ \
w
¢ © { \ — +— ]
g Ot,_ 0,50 \ N A AIQO 1.50
o TIME T/TP

,,29,



FEB RO I AN TR AAREE o R K
T7% =t &7 3,

YL, BFa x5 84 Ho: I RAeRode
BACERTLBIL s34 F Bk 241 H-
4132kt F:l 1B, ThiI ZEMEGEs T
~FRBH#HEREe LY 7oy XN E3EL
HAKRErowM<Hh 3, ATEC -1 13
Ho 12X g RLBAHARERE . 2,
FEEA\BAPFL t HEIRERELF2 T oy
tRl 725,

F-513 203k 8T M/ 2 Yy
Loy BRI TIAREE LA - bl
vor#THD, T4V ALBBIREL L
wEH HAHLoF -F FH T3 RES 5 KM
AhrEzoh 2t LUIHIEREE T R
Sr-aplBoRTYd, T o AT,
TORNEHRIA S Vo T B, —F BB -HT3
HERER D BAoBELY. v ileansth s

Bhrosn, 3 1 HEIRELFA T T, 2

2)
STUMMEF X T2 A =2 -TF - Y 27T
o Rkt BATHEAAL LT T

N

BHNLIpI» TBGAG < FRETFHERIT42
KRB ) LZrEFNAHBLERITI 4%EE
T YNy o8kt R)EHBR Voo HE
X HOIY MR ol BEMES K B 0k
P ot

XX HK

D e KEE 5 MERA B o0
F e AT R AREME . 4K P4
2) FibA THREE: S 2RMAH 042
>AH, P28

3 T LEER FEIFrsT2TLN 7
AEREER BAE Ko P33

280

“““ THEGRY
L —— Mo.A.-2
NN
=
s}
mo
AL,
w
B~ 4 [ =]
~
w (8] 8
— L
o TIME T/TP
‘‘‘‘ THEORY
o NS — ¥o§,g°
o) <E.Ms
g — [ AN AVag A\IWA r <
» {7V Wl%
& - & = ~A7 + } + + — —]
6] 0f 0.50 1,00 1,50
— L v/\v/\ \/VAVA

TIME

T/7P



